Consumption: y(t)

Capital: x(t)
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—— x(t): Matérn Kernel Approximation

—— x(t): Neural Network Approximation
---- x(t): Benchmark Solution
------- Extrapolation/Interpolation
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—— y(t): Matérn Kernel Approximation
—— y(t): Neural Network Approximation
---- y(t): Benchmark Solution

------- Extrapolation/Interpolation
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------- Extrapolation/Interpolation

—— &4(t): Rel. Errors for x(t), Matérn Kernel Approx.
— &4(t): Rel. Errors for x(t), Neural Network Approx.

0 5 10 15 20 25 30 35
Time

40

10_6_: —— ¢&,(t): Rel. Errors for y(t), Matérn Kernel Approx.

| —— ¢&,(t): Rel. Errors for y(t), Neural Network Approx.
| PR Extrapolation/Interpolation
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